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Epsilon-Delta Revisited.

Section 2.9 ideas.
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Questions on anything, including the Writing Project?

Linearization is just a fancy name for the tangent line.
Gl‘u‘h ;&)/ ¢'(X)/

L) = £ (- + £

Fonad L 60 for FO)= X% _=x7%,

_f_‘(\-f - —~S[(, D= (a,-p/a\\

£lix)= l‘»"’_""‘*’—?_i_; i
_F‘(g‘}; -F|CI.\; ;(l) -

L =¥+ NG -D+ £

- ) 4|
= LG

L&) =

Use the above to approximate \(j 2

Lt2>)= Livar-N+ 1 = 2 (.2 Fi=402) ¢
!




240222-notes.notebook February 22, 2024

$4y= COHD- £

tj > .(:'(a-) (x—‘a—\ + —C(ﬂ'\
NP

Ax=dx |
Debive |

9= £ RYx-D + FR) 2 £

CH » £ G+ F@
Loo- B&Y ¢ £ (-3

Ay = EA-F® = S RIAX F £ ')elx
! = v
\30‘4 wm-L 1o _¢;-L.\,,\a_L€ LWQJ IM(.«(J\

puint T dabes do make a Llom ot
ow  a doue (l“""‘"ﬂl\‘—'\-‘c«ﬂ) w,:/'l— /MJ-'“5 ~=OmM -

Hew's o solea

9 % 4 e
\/ = Zn’!‘ , W= wen

P

= Q;-Tf('3
3
o.l em

T mevrease e radivs 6‘7 -



240222-notes.notebook February 22, 2024

WL\‘J"f Ho c,l\u-\?, e v/wu»e
10wm .l—.le,w- = Dw+ 001 W= v.col m , 52 'J'*'

VO‘ZI'W ,C o par‘v\'A s
V{w.ool ) - v(i0)

3
3
%r(lo,oO\\ - ?:-:f(”’)

A
3 4 | ~ 0.6283813627 RrgeeER,
- BTE-O.‘MO' 10 l ”

)

mr

o <
1}
@

S
¢
h

oV

\
\\
O

it
ﬂ

AV =2 T dr
sl (00 VD 0.6283185308 SmpLLER-
NV N/ -
*J Qoncave wp —/

>
<
R

u‘\:lmc."’ ‘P'(IO)&’-

10 weo!



240222-notes.notebook February 22, 2024

This stuff is putting us right on the edge of Taylor's and Maclaurin's series.
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